The artistic crafts of Harappa were :

Developed n the citadles of Harappa and Mohenjodaro
Developed in the lower cities

Developed centuries earlier in villages and transferred to cities
An independent development at particular point of time.

e Gk

(1) 1
(2) 2
(3) 3
(4) 4

g5 & HalD el &

1. ST 3R Algulgs! & R-g71 H [dehid
2. =1 el | faopfad
3. afeal gd miiar & foefd wd gl & 9o
4. fofdy gno.oa & wWdaey § faahid

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=13797]
2[Option ID=13798]
3[Option ID=13799]
4[Option ID=13800]

Sl. No.101
QBID:7201001
The following table shows population of five villages A-E and percentage distribution of males (M), females (F)

and transgenders (T) among them. Based on the data in the table, answer the questions:
Village - wise Distribution of Population

. . Distribution (%)
Village Total Population M : -
A 12,000 46% (-) 22%
B 16,000 (-] 33% 27%
L 18,000 32% 36% {-)
D 24,000 36% (-) 20%
E 25,000 [-) 30% 25%

Note : In table {-) denotes missmg value (%), which is to be computed whenever required.

frafefad aifee! A-E dia iidl @1 siard] 3iR 378 Y98 (M), 3fed (F) $iR Tioiex & Hid=id [ad=u &
Uil 1 59 diferepT § ST 70 3ids] & SMYR TR WY &1 308 alfolg:

3TETe] &I FTHGR [aaru

o e~ ECRUPIGEGICD)

g gﬁf % F T
A 12.000 46% =) 22%
B 16.000 (-) 33% 27%
C 18.000 32%% 36% (-
D 24000 36% i-) 20%
E 25.000 ) 30% 23%

ie: qiferest I ekt A9 1 (-) §IRT SRIG1 41 § [59eh] URSGe SavgediaR [l o1 g |




Transgender population in Village - A 15 % of the female population in Village - B.

L.75
2.50
3.33.33
4, 66.66
(1) 1

(2) 2

(3) 3

(4) 4

Tt A H Tigoiex @t ard! g B ® Bigarsi @1 srard! &1 %8l

1.75
2.50
3.33.33
4. 66.66
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16401]
2[Option ID=16402]
3[Option ID=16403]
4[Option ID=16404]

Sl. No.102
QBID:7201002
The following table shows population of five villages A-E and percentage distribution of males (M), females (F)

and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%a)
Village Total Population M r -
A 12,000 46% (-) 22%
B 16,000 () 33% 27%
C 18,000 32% 36% =)
D 24,000 36% (-) 20%
E 25,000 () 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaiad aifcres! A-E i 71l &1 STEEl 3R 378 03N (M), i (F) SR Tioisx & W= [ad=or &1
&xIidl 81 59 difcreT 4 f3U 7T Sies] & MR IR UY BT 3R allold:

SIS BT ATHAR [gaor

o o TR ufcard 26

d gﬁ M F T
A 12,000 46% i-) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% (-
D 24000 36% (-} 20%
E 25.000 (-) 30% 25%

ie: aifreT & Red 9 &1 (-) §RT 1101 741 § [T uRe e SasaedlaR fadl o1 g |




Find the difference between male population in Village - E and female population in Village - D.

1. 890
2. 830
3. 690
4,610
(1) 1
(2) 2
(3) 3
(4) 4

7iid E § QNI &1 SHaTEl 3R 7iid D H Afgansll &1 Aare & did o1 3R el 82

1. 890
2. 830
3. 690
4.610
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16405]
2[Option ID=16406]
3[Option ID=16407]
4[Option ID=16408]

Sl. No.103
QBID:7201003
The following table shows population of five villages A-E and percentage distribution of males (M), females (F)

and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. . Distribution (%a)
Village Total Population M r -
A 12,000 46% (-) 22%
B 16,000 () 33% 27%
C 18,000 32% 36% =)
D 24,000 36% (-) 20%
E 25,000 () 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaiad aifcres! A-E i 71l &1 STEEl 3R 378 03N (M), i (F) SR Tioisx & W= [ad=or &1
&xIidl 81 59 difcreT 4 f3U 7T Sies] & MR IR UY BT 3R allold:

SIS BT ATHAR [gaor

o o TR ufcard 26

d gﬁ M F T
A 12,000 46% i-) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% (-
D 24000 36% (-} 20%
E 25.000 (-) 30% 25%

ie: aifreT & Red 9 &1 (-) §RT 1101 741 § [T uRe e SasaedlaR fadl o1 g |




Find the ratio of population of transgenders in Village - C to population of males in Village - B.

1.9:10
2. 78
3.34
4.27:32
(1) 1

(2) 2

(3) 3

(4) 4

7ifq ¢ H Tiveisx 3R i B H YN S H1EIE] BT 3UTd 1d Diferd |

0

| SO VI N '
B 0o o=

ol

2T 232

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=16409]
2[Option ID=16410]

3[Option ID=16411]
4[Option ID=16412]

Sl. No.104
QBID:7201004
The following table shows population of five villages A-E and percentage distribution of males (M), females (F)

and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. , Distribution (%)
Village Total Population M r -
A 12,000 46% (-) 22%
B 16,000 () 33% 27%
C 18,000 32% 36% =)
D 24,000 36% (-) 20%
E 25,000 (-) 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaiad aifcres! A-E i 71l &1 STEEl 3R 378 03N (M), i (F) SR Tioisx & W= [ad=or &1
&xIidl 81 59 difcreT 4 f3U 7T Sies] & MR IR UY BT 3R allold:

SIS BT ATHAR [gaor

o o TR ufcard 26

d gﬁ M F T
A 12,000 46% i-) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% (-
D 24000 36% (-} 20%
E 25.000 (-) 30% 25%

ie: aifreT & Red 9 &1 (-) §RT 1101 741 § [T uRe e SasaedlaR fadl o1 g |




What 1s the difference between number of males and females in Village - A ?

1. 480
2.1920
3.1120
4, 1680
(1) 1
(2) 2
(3) 3
(4) 4

Titg A T Ol iR Afgared @1 Wem & § &1 oK fha g?

1. 480
2.1920
3. 1120
4. 1680
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16413]
2[Option ID=16414]
3[Option ID=16415]
4[Option ID=16416]

Sl. No.105
QBID:7201005
The following table shows population of five villages A-E and percentage distribution of males (M), females (F)

and transgenders (T) among them. Based on the data in the table, answer the questions :
Village - wise Distribution of Population

. , Distribution (%)
Village Total Population M r -
A 12,000 46% (-) 22%
B 16,000 () 33% 27%
C 18,000 32% 36% =)
D 24,000 36% (-) 20%
E 25,000 (-) 30% 25%

Note : In table (-) denotes missing value (%), which is to be computed whenever required.
frafaiad aifcres! A-E i 71l &1 STEEl 3R 378 03N (M), i (F) SR Tioisx & W= [ad=or &1
&xIidl 81 59 difcreT 4 f3U 7T Sies] & MR IR UY BT 3R allold:

SIS BT ATHAR [gaor

o o faoRr ufcard o)

d gﬁ[ M F T
A 12,000 46% i(-) 22%
B 16.000 (-) 33% 27%
C 18.000 32% 36% (-
D 24000 36% (-} 20%
E 25.000 (-) 30% 25%

ie: aifreT & Red 9 &1 (-) §RT 1101 741 § [T uRe e SasaedlaR fadl o1 g |




Total number of females in Villages B and D together 13 % more than the number of males in Village
- C.

B A B
= D b2
~1 k2 b2 =]
e Ly L L

(1) 1
(2) 2
3) 3
(4) 4

7fd B SR D &HI 8 U W1y Bigarsi & oo W= 7id ¢ ¥ goui &l 9= 4§ =1 uiad sifde g2

etk
)
oy

L2
—
—-1
A

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16417]
2[Option ID=16418]

3[Option ID=16419]
4[Option ID=16420]

Sl. No.106
QBID:7201006

In ADDIE model of instructional design framework, the letters I and E in the acronym ADDIE pertain to

. Identification and Evaluation

. Implementation and Evaluation

. Identification and Examination

. Implementation and Examination

| R

e T2

(1) 1
(2) 2
(3) 3
(4) 4

&@%Qﬁ%%unsri FU3W & ADDIE (TSlol3as) Hisd & URaul Weg ADDIE & 3R 1 3R E e
e

1. Fegiaxo 3R gediae
2. BRGE 3R i
3. FeIRRuT SR wRiaf
4. PrE-aTT 3R el

1) 1

(2) 2

@) 3

4) 4

1[Option ID=16421]
2[Option ID=16422]
3[Option ID=16423]
4[Option ID=16424]

Sl. No.107
QBID:7201007




Students participating in online classes are taught by an instructor. Following the lesson, the instructor intends
to incorporate reading materials (e-content, Power point presentation, etc.) that can be viewed by the students.
What option would instructor choose ?

1. Content creation tools
2. Networking tools
3. Learning Management System (LMS)
4. Links of the websites
(1) 1
(2) 2
3) 3
(4) 4

HITRITS Dl H YR & 3% (el &1 U Srdwd 9Tl g1 U6 & S5 SIe%Ieh Uo--ar! (-fava
I, TR wige wagfd 3nfe) 39 S0 9 Hav i & o [aandf 57 sracie 3 ¥ | 59 fou
3D DIH-H fabed BT F07 S

1. fqwgasg Fofur g
2. FeafthT I9@RT
3. HIETH Y&eH YUl (TeUHT)
4. 4eqIEcy & fdd
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16425]
2[Option ID=16426]
3[Option ID=16427]
4[Option ID=16428]

Sl. No.108
QBID:7201008

Which of the following does not come under primary laws of learning ?

. Law of effect

. Law of Readiness

. Law of Multiple response
. Law of exercise

(1)1

(2) 2

(3) 3

(4) 4

fFrafaiad & oi--a1 Fran st & arfie Faal o siavid el e g2

1. 94T &1 Hgg
2. dd=dl &1 a8
3. §8 Uk &1 g0
4. 3O &1 Hug
(1) 1
(2) 2
(3) 3
(4) 4

A R

1[Option ID=16429]
2[Option ID=16430]




3[Option ID=16431]
4[Option ID=16432]

Sl. No.109
QBID:7201009

Given below are two statements :
Statement I : Project method 1s best associated with the Philosophy of John Dewey.

Statement II : The strength of Project method lies in social participation.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but statement II 1s correct.
(1)1
(2) 2
(3) 3
(4) 4

R PRy E:

BUA 1 : TS fafY o Sdi & g% 9 aiiu® =9 9 ald 8|

B 11 - Ui (afer &t gaerar s wicHiia § Higd 81

SWRIF HYH & aie O, 1 iU T fde ol ©§ 8 a8 ugead 3R &1 99 HIfoU:

1. BYFI AR ISH T8l € |
2. PYTI R I GHITEd € |
3. YT 196l 8, AP HUA I TEd § |
4 PYTITETE, AT YT I Tl & |

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16433]
2[Option ID=16434]
3[Option ID=16435]
4[Option ID=16436]

Sl. No.110
QBID:7201010

For Undergraduate educational programmes. courses on SWAYAM Platform have been developed by :

A NPTEL

B. IIM Ahmedabad
C. AICTE

D. CEC

E. IIM Bangalore
F. UGC

Choose the most appropriate answer from the options given below :

1.A.C.Dand E Only
2.B.D. and F Only
3.A.D.E and F Only
4. C,E and F Only




(1) 1
(2) 2
(3) 3
(4) 4

qﬁgﬁﬁ?ﬁ%ﬁwaimm(swmm&ﬂ?ﬁ&ﬁ@m 3R gTemeH fGad grI fasfad fed
gl

A, TUIdIREd
B. IS HSUH, HEHAEG
C. TR

D. gl
E. 3S IS UH, §TER

F.fa.sf.am
- fAu T fow el § ¥ 9ad Iuged ST &1 997 Difoie:

1. AT A, C,DARE
2. %A B, D ARF
3. PAdA, D, E AR F
4. BAAC,EARFE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16437]
2[Option ID=16438]

3[Option ID=16439]
4[Option ID=16440]

Sl. No.111
QBID:7201011

While reading research paper or research reports, often one comes across the abbreviation 'viz', which means

. for example
. namely

. against

. refer to

(1) 1

(2) 2

3) 3

(4) 4

e 3TeRg T Qe Wiade (RUTd) 9gd Iy U: Taer viz 1 8, s9@ o &

1. Iareuny
2. a3
3. ®aes
4. B d
(1) 1
(2) 2
(3) 3
(4) 4

B R R

1[Option ID=16441]
2[Option ID=16442]




3[Option ID=16443]
4[Option ID=16444]

Sl. No.112
QBID:7201012

A student submits Ph.D. thesis in a university. Upon scrutiny. it 1s found that his/her thesis has a similarity
content of 35%. This would fall in which of the following categories of plagiarism according to UGC
regulations ?

.Level 0
.Level 1
.Level 2
.Level 3
(1)1
(2) 2
3) 3
(4) 4

Ua faeneff ue fayfeeran & o d.u= €. 9y vey o o1l 8 | 395 Y UeY BT Tdel & IR
3| fauTag & 35% HFT H FHEYAI Ul Ol ¢ | [ayidenad sFEar S & [ aml & oaR
frafeRad o 3 gg e It & fod TR T S1d1 82

1.XED
2.4 1
3.5 2
4, %X 3

(1) 1

(2) 2

(3) 3

4) 4

B L R

1[Option ID=16445]
2[Option ID=16446]
3[Option ID=16447]
4[Option ID=16448]

Sl. No.113
QBID:7201013

The part of research paper that gives an overview of the field to be investigated and the investigator's
hypotheses about the research outcome, is called

1. Abstract

2. Introduction
3. Results

4. Method

(1) 1
(2) 2
(3) 3
(4) 4

Y 3TeE BT g W s iy & fawy 8 &1 fagmadie 3R oy & ey & aR § 3r-9y® &1
RT3 &1 Soad a1 oIl B, 39 ®el 5l &




(3) 3
4) 4

1[Option ID=16449]
2[Option ID=16450]
3[Option ID=16451]
4[Option ID=16452]

Sl. No.114
QBID:7201014

A study in which a group of participants is observed and measured over a period of time, refers to

1. Longitudinal Research
2. Archival Research
3. Cross-sectional Research
4. Correlational Research
(1) 1
(2) 2
3) 3
(4) 4

U 3 o Uiyl & U 998 31 Us &I 3fafel § Haor 3R H319- a1 i1l 8, 39 ®el ofldl 6:

1. 3ced T
2. RIeE WY
3. IO Y
4, ¢ Sy Y

1) 1

) 2

3) 3

(4) 4

1[Option ID=16453]

2[Option ID=16454]

3[Option ID=16455]
4[Option ID=16456]

Sl. No.115
QBID:7201015

Given below are two statements :

Statement I : In case of qualitative phenomena, we have data on the basis of presence or absence of an
attribute or more than one attribute.

Statement II : With such data as mentioned in Statement I above the sampling distribution may take the form
of a Binomial probability distribution.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement II is true.

(1) 1

(2) 2

3) 3

4) 4




TR eEfume:

DU 1 : UMD URHST & eFia/HY §, 9 U U1 Ud U iU [RIvdIsi/a&0 &1 Jufkuid sid

IR & SMTYR TR 3w ST TIfed TR B

HYA 11 : IUE HYA-1 H Sfewiad stidvs! o1 ufed faavur fgudiy witesdr faavur & = 1 g1 9ol g |
SRIFd YA & ATAS ¥ = 50 v Gwedi § ¥ Ut 3R &1 999 Sifog:

1L PYTIRISAI TS |
2. P AR I SH] AR |
3. YT I 9, AP PYT I T ¢ |
4 FYI AR, AFTFUHE I T E |
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16457]
2[Option ID=16458]

3[Option ID=16459]
4[Option ID=16460]

Sl. No.116
QBID:7201016

Every society, because of communication, reflects a sense of

1. Commonality
2. Doubt
3. Indifference
4. Animus

(1) 1

(2) 2

(3) 3

4) 4

to most extent.

Tid ST YUY & SR 95d 88 dP @1 UG &1 wiafafiad Searg |

1. T
2. 448
3. el
4.fogw
(1) 1
@) 2
(3) 3
(4) 4
1[Option ID=16461]
2[Option ID=16462]

3[Option ID=16463]
4[Option ID=16464]

Sl. No.117
QBID:7201017




On the negative side, communicative language 1s used to :

A, Extend democratic debates
B. Suppress truth

C. Divide the society

D. Permeate ethnocentrism

E. Support global peace efforts

Choose the correct answer from the options given below :

(4) 4

THRIES Y& D ard D ol SUSUTT ST 1 WaHT fohar &re &:

A. Al dile® drg-fdarg @l gg+ @ oy
B. I &1 0 &3 & faU

C. JHIS & gie & g

D. Yllfd-d-=1gdl &I IR &3 & g
E. 9fie ifa v & gaa & ford

- fu e fasedl 9 9l Ok I
1.Fad A, B, C

1[Option ID=16465]
2[Option ID=16466]
3[Option ID=16467]
4[Option ID=16468]

Sl. No.118
QBID:7201018

Given below are two statements :

Statement I : Communication, culture and power are inter-related.

Statement II : Socio-cultural values when communicated do not have any weightage of power.

In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I 1s true but Statement II is false.
. Statement I 1s false but Statement II 15 true.
(1) 1

e L b2




) 2
(3) 3
(4) 4

TR T REmE:

HYA 1 HUYUT, TpId SR fdd 3o Hafdd 8id 8

HUF 11 : TN & GLTd AHISID-TRG D Jeuli 8 QG &1 $15 doi el 36 ol g
SIRIdd Y & 3HTaiid H, 1< fau MT fdeedl § 3 96l S o1 994 ST

L. BYFIAR IS T E |
2. PYTI R 11 SHT ST © |
3. PUTITA . AP PYT I JTT ¢ |
4 PYFI I, AP FUHE I TIE |
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16469]
2[Option ID=16470]
3[Option ID=16471]
4[Option ID=16472]

Sl. No.119
QBID:7201019

Modern communication technology has converted words into

A. A tool of equality

B. Time

C. A tool of unwarranted peace
D. Money

E. Power

Choose the correct answer from the options given below :

A, B. C Only
'B. C. D Only
.C,D. E Only
'B.D.E Only
(1) 1
(2) 2
3) 3
(4) 4

il S




YT TR U - gl o HuRkafdd @ faar g:

AT S WA S E9H

B. 90

c. 3Ufga Eifd Sl gfdd & =u f
D.¥9HEUH

E. Yfed & &9 d

= f4u e fad el O O Jel IR &1 994 Difois:

1.BAAA, B, C
2. %ddB,C,D
3. %Add C, D, E
4. $ddB,D, F

(1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=16473]
2[Option ID=16474]

3[Option ID=16475]
4[Option ID=16476]

Sl. No.120
QBID:7201020

Given below are two statements :
Statement I : The semantic code in communication deals with character and characterisation.

Statement II : Roland Barthes describes this code as the voice of the person.
In the light of the above statements. choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I 1s true but Statement II 1is false.
. Statement I 1s false but Statement I 15 true.
(1) 1
(2) 2
(3) 3
(4) 4

TR A PRI E

HY 1 HUSUT H 372Richd T e U iR 01 ¥ Hafdd giar |

U 11 - e G159 e DI Afdd DI AT B I G B

IR HYH & ATelld 1, A1 S0 T fawedl T I Ul IR &1 904 DI

1L PYTIR IS TIE |
2. FYAT AR I SH] AR |
3. YT 9, AP PYT I JTT ¢ |
4. DY I, BT FYUT I I E |
1) 1
(2) 2

F L S




(3) 3
(4) 4

1[Option ID=16477]
2[Option ID=16478]
3[Option ID=16479]
4[Option ID=16480]

Sl. No.121
QBID:7201021

A shopkeeper purchases a packet of 60 pens at Rs. 10 per pen. He sells a part of the packet at a profit of 40%.
On the remaining part, he bears a loss of 20%. If his overall profit on the whole packet 15 20% of , find the
number of pens he sold at profit.

40
30
20
35

il B

(1) 1
(2) 2
(3) 3
4) 4

U gDHMaER 10 $UU Ul HIH i &2 § 60 HAH & U Jdhe &l @RIadl 6| 98 Udie & Ud HFT Pl 40%
& T TR §9d1 8 | U9 U TR FH 20% 1 81 8idl & | Tl I8 ol Uebe WX el dlY 20% &Il 8, a9
SOH P a8 T J1d Pifort ol 9= Ay W

ad bg Taa e
L e T e O e

il

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16481]
2[Option ID=16482]

3[Option ID=16483]
4[Option ID=16484]

Sl. No.122
QBID:7201022

A batsman scored 98 runs in his 17th match . As a result his average runs per match increased by 2.5. What

was his average before playing 171 match ?

el e
O L

LA

Lh Lk

oy L
b= e
Lh Lh

(1)1
(2) 2
(3) 3
(4) 4




U@ gead (e RaaTsh) 170 T4 H 08 I F-1A1 ¢ | S9% G0 WY 39@ Hiadg a3 5 2.5
¥ @1 g B ol g1 < 1781 79 Wa- & Ugd 9] S{d fda-T ur

Ln
Lh

Sl
(SRS T )
— G0 O Lh
Lh Lh Lh

Faie

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16485]
2[Option ID=16486]

3[Option ID=16487]
4[Option ID=16488]

Sl. No.123
QBID:7201023

Water level of a river increases and decreases by 10% on alternate days in the rainy season. What shall be the
increase or decrease in the water level at the end of second day, as compared to the initial water level ?

% of increase
1% decrease
. 1.5% increase
. 1.5% decrease
(1)1
(2) 2
(3) 3
(4) 4

AN P TG TP 41 & TR § Ud e 10% B JiG il & Ud GO o 10% P HHI gl ¢ | 3RS
SR @1 g1 H g3 fa & 3id | ofear H fobd- ufawrd & gfg 3rar ot g1 wineeih

b =

e T2

1[Option ID=16489]
2[Option ID=16490]
3[Option ID=16491]
4[Option ID=16492]

Sl. No.124
QBID:7201024

There are two numbers such that the sum of twice the first number and thrice the 289 number is 39. Also the
sum of thrice the first number and twice the 2nd number is 36. The largest of the two numbers is ?




(3) 3
(4) 4

&1 BT 58 YR &l T @ R g TR o Gl SR g A1 & R &l 4 30 § AUl ugel Het
& AT iR Gl 1 & SN[ 1 417 36 5| Al SeaTsl O 9 g9 S $H-41 52

bl
LA

Faike
o

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=16493]
2[Option ID=16494]

3[Option ID=16495]
4[Option ID=16496]
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If SEARCH is coded as 214673 and CHART 1s coded as 73465, then what will be the code for TEACHER. 7

. 5147316
. 5174136
. 5143716
. 5413716
(1)1
(2) 2
3) 3
(4) 4

qf¢ SEARCH 1214673 & &0 § Ped 01 T § 3R CHART Bl 73465 & =0 T Heag [l 141 6|
dd TEACHER &I &4 tRe ¥ dedg far s

k2 =

R ]

. 5147316
. 5174136
. 5143716
. 5413716
(1) 1
) 2
(3) 3
4) 4

k=

ES 5

1[Option ID=16497]
2[Option ID=16498]
3[Option ID=16499]
4[Option ID=16500]
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"Today on average we can look forward to a longer life span than the generation before us. It is obvious that it
has been possible only and only because of the millions of dedicated doctors who have ensured our good
health". Identify the fallacy committee in the above argument from the following options ?

. Hasty Generation

. False Cause

. Slippery slope

Appeal to unqualified authority

:h.!..uh.)l—l

1) 1




(2) 2
(3) 3
(4) 4

HIHTIG: TS §H 30 g Uie! B fUe Tall Sitd--afdl B U= &R Jobd § | I8 WY ¢ & U9l had
Ral FATUd SRl @ SRUIEHE 5311 8 | 581 81 o= Wy 1 gHidd fovar 8 | Sudax a8
frafafred faeed 9 db 19 S UgaH S|

1. Hfaarid grE=ie
2. T
3. flhoe-gad Haurdr
4. UG WIYHR 38
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16501]
2[Option ID=16502]
3[Option ID=16503]
4[Option ID=16504]
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If the statement "All cricketers are rich persons’ is given as true which of the following statements can be
inferred to be false ?

A. No cricketers are rich persons.

B. Some cricketers are rich persons.

C. Some cricketers are not rich persons.
D. Some rich persons are cricketers.

Choose the correct answer from the options given below :

1. B and C Only
2. A and C Only
3.B and D Only
4. A, B and C Only
(1) 1
(2) 2
3) 3
(4) 4

gﬁ:ﬁmmﬁfwatﬂaqﬁ%rﬂﬁ%ﬁ[ﬁq%ﬁaﬁﬁﬁﬁﬁ-maimw 3HI=d o o g
[

A. BT fhahex o= ofad el & |
B. T fhdhex o aafda g1
C. T fohdrex o= aafd Al o
D. T Yl oifad e g |

1= fqu ¢ fdeedt § O Hel SR o1 994 ST

1. Had B 3R C
2. Had A AR C
3. $ad B AR D
4. BATA, B3R C




1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16505]
2[Option ID=16506]

3[Option ID=16507]
4[Option ID=16508]
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Which of the following propositions are so related that they cannot both be true, although they both may be
false ?

A. All football players are rich persons.

B. No football players are rich persons.

C. Some football players are rich persons.

D. Some football players are not rich persons.

Choose the correct answer from the options given below :

.Aand B Only
. A and D Only
. Cand D Only
.B and C Only
(1) 1
(2) 2
3) 3
(4) 4

mﬁﬁ.@mwwﬁﬁm%%ﬁﬁﬁﬁmﬁuﬂrﬁa‘cﬁnﬂﬁﬁ
|

A Tt peara et o=t afdd €|

B. ®ls Beard [Gars! e oafdd 7ol o |

C. T Peard Raars! o= ofdd g

D. T© Geald aare! &=l aafad 7ei o |

=1 f4U 7T gl § I 9l IR &1 94 Difel:

1. Hdd A AR B
2. BT A ARD
3. %dd C 3R D
4. HIAB AR C

(1) 1

(2) 2

(3) 3

(4) 4

]

1[Option ID=16509]
2[Option ID=16510]
3[Option ID=16511]
4[Option ID=16512]
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Which of the following propositions are logically equivalent ?

A. No dogs are aggressive animals.

B. No aggressive animals are dogs.

C. All dogs are non-aggressive.

D. Some dogs are not aggressive animals.

Choose the correct answer from the options given below :

. C and D Only
Aand D Only

. A, B and C Only
.B and D Only
(1) 1

(2) 2

3) 3

(4) 4

fFafeRad o eH-d giosical dfds w1 3 auge €|

A. BI5 i T 3PP AR ol o
B. Pl il SThTHS SR T1l ol o
. T Pl TR-3MTHTHD § |

D. TS Tl SHHP oHaR 7ol 6|

=14 f4U 7T gl § O 9l IR &1 944 Difel:

1. %9d Cc AR D
2. BT A IRD
3. %dd A, B3R C
4. HIAB ARD

1) 1

) 2

3) 3

(4) 4

ik i

e a2

1[Option ID=16513]
2[Option ID=16514]
3[Option ID=16515]
4[Option ID=16516]
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Given below are two Statements :

Statement I :According to classical Indian school of Logic, namely Nyaya. we ascertain the relation of
unmiversal concomitance between x and y by perceiving that in all cases the presence of x 1s accompanied by
presence of v, and not perceiving any instances to the contrary.

Statement II : Classical Indian materialists argue that universal relation between two events cannot be
established, there being always a room for doubt about the unobserved cases.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both statement I and Statement II are false.
3. Statement is true but Statement I is false.

4. Statement I 1s false but Statement I is true.




(1) 1
(2) 2
(3) 3
(4) 4

T pyFfRum E:

FUF 1 : VRGN YR TR 19 T 6 HTIR 89 x 3R y & did FaHm Fgaidadl Hi%d 3 o
gl gty 7 x o1 IufRufa & Ty y Bt SufRufd gidl 8, 3R 58 faadid &1S =vid 7gi 81

FHYF 11 : TG YR Hifdmardt o od § & el af alge i & d ardyife dey wifia =gt
fopa o Taar © Tife miferd fawal & IR ¥ 9ed ¥eg & YT eidl 8|

QRIGT HY- & AT H A1 14U U [qaedi § I el 3R &I 944 I

1L BYFIAR IS A § |
2. FYAT AR I SHT TR |
3. PUTITA ., AP PYT I HTT ¢ |
4. FYFTI 3T, AT SUT I TT T |
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16517]
2[Option ID=16518]
3[Option ID=16519]
4[Option ID=16520]
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Which of the following applications A-C are built on top of open-source digital platforms ?

A Agadhar
B. Adobe Reader
C. COWIN

Choose the correct answer from the options given below :

A.Band C

. A and B Only
. B and C Only
. A and C Only
(1) 1

(2) 2

3) 3

(4) 4

B




frAfRad wanT A-c T ¥ SH-51H 9 Gad |id 3o wepid W FHifd feu g

AL SRR

B. USIg =
C. Plldd

I fau ¢ fam el § 9§ T8l 3R &1 994 Bifor:

1.A.B3RC
2. Bad A dRB
3. PadAB AR C
4. BT AARC
1 1
) 2
(3) 3
(4) 4
1[Option ID=16521]
2[Option ID=16522]

3[Option ID=16523]
4[Option ID=16524]
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Given below are two statements :
Statement I : IBM was the most valuable worldwide IT brand in 2022.

Statement II : TCS and Infosys were the second and the third most valuable Indian brands respectively in the
IT services sector globally in 2022.

In the light of the above statements. choose the correct answer from the options given below :

. Both Statement I and Statement II are true

. Both Statement I and Statement II is false
3. Statement I is true but Statement II 1s false
4, Statement I false but Statement II 1s true

(1)1

(2) 2

(3) 3

(4) 4

B IE AL AIC N CURI I
HY ; STRaUE ay 2022 B fay 1R & Galfte geaar smect sis o

HYTIL: a9 2022 T agel Harsii o & I fay § SRy SR 31N Hw: Y 3R dias Jaiied
TeaH 3fgel YR &S 4|

IWRIdd HY & ATdlD H, -id 34U 770 f[dsedi 8 I Tl 30 B 90+ DI

1. BYIIR IS TR |
2. P AR I SH] AR |
3. FYTI9d ¢, AP HYT I 3T T |
4 FYI AR, AFTFUHE I T E |
(1) 1
(2) 2

k2 =




(3) 3
4) 4

1[Option ID=16525]
2[Option ID=16526]
3[Option ID=16527]
4[Option ID=16528]
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Which of the following statements (A-C) are correct with reference to "Software as a Service (SaaS)" in cloud
computing ?

A SaaS users can access their data from any Internet-Connected computer on mobile device.

B. A web-based email service such as Outlook, Hotmail or Yahoo! Mail is a form of SaaS.

C. Saa$S buyers can customize the user interface to change the look and feel of the software, as well as
modify specific areas. such as a data fields.

Choose the correct answer from the options given below :

. A and B Only
. Aand C Only
B and C Only
A BandC

B =

(1) 1
(2) 2
3) 3
(4) 4

FISS DG H FUCAR Uol U Fdd (F) & e H FafaRad oy-l § 4 SH-5H 8 $U- 981 52

A. I 1T §eRT U s ot off HgeR sryar AlaTed SUBRUN § 30+ S % Ugd 9ad §

B. 3cq®, TIcHd YAl OTg I il 49 ST SHe 9al 99 &1 U6 &0 |

C. T ol TR &1 =4 3R Siufd uRafdd &3 3R Ser &41 o fafkiy &7 &1 =giaid &=
& [eRl Ve SIaRTgE & U] SHaUH TR §-1 96d ¢ |

i f4u 78 fdd el § T Tel 3k &1 9094 Difols:

1[Option ID=16529]
2[Option ID=16530]
3[Option ID=16531]
4[Option ID=16532]
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Which of the following communication technologies A-C are considered as short-range devices/technologies ?

A CCTV
B.RFID
C. WLAN

Choose the correct answer from the options given below :

1. Aand B Only
2. A and C Only
3.B and C Only
4, A.Band C

(1) 1
) 2
3) 3
(4) 4

1 TUwoT il A-c B ¥ 5 T XS ISR/ HIifi! A1 oiidl 87

A, Girerdt
B. {RUGHRS!
C. SETYULLA

=1 f4U 7T gl § I 9l IR &1 94 Difel:

1. Hdd A AR B
2. Bad A AR C
3. BAAB 3R C
4. A B3RC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=16533]

2[Option ID=16534]

3[Option ID=16535]
4[Option ID=16536]
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In India, the term "Public Key Infrastructure” is used in the context of

1. Digital security infrastructure
2. Food securnty mfrastructure
3. Health care and education infrastructure
4. Telecommunication and transportation infrastructure
(1) 1
(2) 2
(3) 3
(4) 4




%I'R_rfff Hdul-ep Hgaqul SaeRaAT (Ufsdd B g3prgdeR) Fafarad | fewe dey o vainT fear s

1. P GI&T ST
2. T Y& SHaHTET
3. WY QT g 4T SaER=HT
4. X IR 3R IRGE ST
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16537]
2[Option ID=16538]

3[Option ID=16539]
4[Option ID=16540]
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What is the correct sequence of steps in Risk assessment related to environmental hazards 7

A. Risk characterization
B. Exposure assessment
C. Hazard Identification
D. Risk Management

Choose the correct answer from the options given below :
C,B.A,D

1
2
3.
4

w0
oop
oww
=g g

(1) 1
(2) 2
(3) 3
4) 4

TaiaRuiTg Gl ¥ Gefid sifed geuid- & Hafafad deHf of ugt sHHH Ta18?

A, SifgH fagdioro

B. SaYIHT HedioA
C. Waxl &l gg=

D. SliRaH yge=
=4 feu 7t fas el § T 9l 3R &1 99 Difol:

EBAD

1
2
3.
4

e
2Rl
Oww
R~

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=16541]
2[Option ID=16542]




3[Option ID=16543]
4[Option ID=16544]
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National Solar Mission, one of the missions of National Action Plan on Climate Change (NAPCC) was
launched in the year

. 2009
. 2010
. 2011
2012
(1) 1
2) 2
(3) 3
4) 4

oAy 9Rad- Tee AP B Ao (TR & = # 9 U A9y IR B o Fe d 3 g ad
Y feodT T U

B B O B

. 2009
. 2010
2011
2012

=

:l-".(..\-\:l

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=16545]
2[Option ID=16546]

3[Option ID=16547]
4[Option ID=16548]
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Which one of the following has contributed maximum in sea level rise so far in the context of climate change ?

. Melting of Antarctic Ice-sheets

. Melting of Glaciers
3. Thermal expansion of oceanic waters
4. Melting of Greenland Ice sheets

1) 1

(2) 2

3) 3

(4) 4

gﬂﬁ@%%ﬂﬁﬁﬁa@g R & SR 364 1 ol ao FafafEa I 4 fget aeE siftean w61

1. TI&UT YAy 80 91ax & g
. fer wusi o1 [y
 HENFRI §d &1 T4 TR
4. Fcivs &1 feq 9re] o fuuen

(1) 1
(2) 2
3) 3
(4) 4

k2 =

L b

1[Option ID=16549]




2[Option ID=16550]
3[Option ID=16551]
4[Option ID=16552]
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QOut of different oxides of nitrogen which of the following are considered as Air Pollutants and known as NOx
5

A NO (Nitric Oxide)

B. NO, (Nitrogen dioxide)
C. NO; (Nitrogen trioxide)
D. N,0O (Nitrous oxide)

Choose the correct answer from the options given below :

.Aand B Only
.B and C Only
. C and D Only
. A, B and D Only

(1) 1
() 2
3) 3
4) 4

Tgclor & fafir semrgs] O 9 e o ¥ 65 a1y Ugue 91 ofidl § IR NO, & EU H JHI |l g

A.NO (RIS HFHES)
B. NO, (ATSCIo STg aI5s)

C. NO, (AT5¢ISH T3 HIRIES)
D. N,0 (TI52H HHES)

= f4u e fas el & 9 Jel Ik &1 994 Difos:

1. 5dd A 3R B
2. FAAB AR C
3. %ad C AR D
4. Pad A, B AR D

(1) 1

(2) 2

3) 3

(4) 4

e faa B —

1[Option ID=16553]
2[Option ID=16554]
3[Option ID=16555]
4[Option ID=16556]
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The advantages of biodiesel over conventional petro diesel are :

A, Biodiesel produces significantly lesser CO, and SO,.

B. It is non-renewable

C. It has higher octane number

D. It can be used in any ratio with petro-diesel
E. It has lower flash point.

Choose the most appropriate answer from the options given below :

. A, B and C Only
.B. Cand D Only
A, Cand D Only
.C.D and E Only

(1) 1
(2) 2
(3) 3
(4) 4

URURS UeISiod 31 U Sig-Siod & 9 5 T Far-a oy &2

A. S-STed BTH! & CO, 3R S0, ITd BIAT 5|

B. U8 TR Adiaxuiig g

C. U e WAl AR g |

D. 59 Ul Stora & 1y et o srara § vt fm s gwar g1
E. 5951 (449 Sao-id (g Wise)

-4 fau e famodl § € 99 Sugad SOk &1 99 B

1. BAAA, B AR C
2. ®JAB, C AR D
3. HAAA, C AR D
4. HAAC, D IARE

(1) 1

) 2

(3) 3

(4) 4

B

1[Option ID=16557]
2[Option ID=16558]
3[Option ID=16559]
4[Option ID=16560]
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Which of the following names of technology platforms has been mentioned in NEP-2020 through which
online training of teachers will be encouraged ?

A, SWAYAM
B. AYUSH
C. PARAKH
D. DIKSHA
E.NIT

Choose the correct answer from the options given below :

.B and C Only

. A and D Only
.A, Cand D Only
. A, B and E Only
(1) 1

(2) 2

3) 3

(4) 4

T3 e =ifa & FafaRad $9-8 Ueife 59 & 9 o1 Ioorg fovar a1 § fore arm 3 el &
s uiRieu & Hiefed fdar sm?

A g

B. 1Y
C.Rd
D. gl&fl

E. U735l
i feu U fas el § 3 TEl SR &1 99 BifeI:

R e

1[Option ID=16561]
2[Option ID=16562]
3[Option ID=16563]
4[Option ID=16564]
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In 1904, Curzon was the moving force behind the enactment of the Indian University Act which intended to
introduce radical changes into which of the following universities :

A. Calcutta

B. Bombay

C. Madras

D. Punjab (in Lahore)
E. Allahabad

Choose the most appropriate answer from the options given below :

. A, B and C Only
.C.D and E Only
.A,C.Dand E Only
A B.C.Dand E

(1)1
(2) 2
(3) 3
(4) 4

gy 1904 § YR fayfaeney srfafan & sftfaea & fow sRumd @e o forgeT Sewg Fafafad
o fayfamrrerdl & Smya-ga uRad=1 &1 YE3ITd BT U

A. Fasdl
B.dld

C. Hgr ™

D. UoTd (ARR H)
E. SUIGIEIG

=i fAu e fae el § ¥ gad Sugad SR &1 99 Difeld:

1. BATA, B AR C
2. HIAC, D IIRE
3. %40 A, C,DHRE
4. A.B.C.D3RE

(1 1

(2) 2

(3) 3

(4) 4

d o=

e a2

1[Option ID=16565]
2[Option ID=16566]
3[Option ID=16567]
4[Option ID=16568]

Sl. No.143
QBID:7201043




Given below are two statements :
Statement I : UGC is a central government organization established by an Act of Parliament in 1956.

Statement II : UGC has established five regional centres in order to ensure proper functioning.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but statement II 1s correct.

(1) 1
) 2
3) 3
(4) 4

= < e U MY

HY 1 ; goird, 1956 H g B HYHae g1 wifud fea1 1 ue HEig WReR! |76 3
S 11 - goil! = gfad e & YA o & &8 § Ui &5 S o wiftd fFar g
SRIAI SYH & e H, e iU T fde el & 8 9oy SUge SR &1 99 B

1. BYFIARIIH T8I ¢ |
2. PYTI AR IS TTaa & |
3. YT I T6l 8, AT HUT 1 TTEd © |
4 PYFITETE, AT YT I Tl & |

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=16569]
2[Option ID=16570]
3[Option ID=16571]
4[Option ID=16572]
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Ministry of Environment and Forests, Govt. of India with the help of centre for Environment Education
(CEE). launched a National Environmental Awareness campaign (NEAC) in 1986 to increase
awareness about the environment in various target groups in the country.

1. Chennai
2. Ahmedabad
3. Delhi
4. Hyderabad
(1)1
2) 2
(3) 3
(4) 4




YRd PR & Talarv U4 o HATed - uaiaul e 3 as (S) B gemarg I g
fafay wiiérd Togl & Ao vgiaRv & aR 1 S dl H gis 8 a9 1986 H AP YF1aRUIG SRl
ST BT (ST 1 3 B

1. 9%
2. dgHaldlg
3. faeut
4. BEXIEIE
(1) 1
2) 2
3) 3
(4) 4

1[Option ID=16573]
2[Option ID=16574]
3[Option ID=16575]
4[Option ID=16576]
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Which of the following 1s an important archaeological site declared by UNESCO as a world Heritage site in
19807

. Takshshila
. Mithila

. Vallabhi

. Nalanda
(1) 1

(2) 2

(3) 3

4) 4

[FafeRad o 9§ B U Hgw@yy] QRIdlas Sd © o] g-%] gR1aY 1080 1 fay eRIex =/ Uifid
fepar T

1. e
2. i
3. geaHl
4, Alci<l

(1) 1

(2) 2

3) 3

(4) 4

b =

S

1[Option ID=16577]
2[Option ID=16578]
3[Option ID=16579]
4[Option ID=16580]
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.

fafafad ey ot ufgu 3R Uy &1 3R 2|
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Based on the information given in the passage, arrange the following events in correct chronological order.

A. Emergence of the first cities

B. Neolithic Revolution

C. Invention of writing

D. The Minoan civilisation cities which flourished in Crete

Choose the correct answer from the options given below :

(4) 4
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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The term LICs in the passage most likely represents

. Lower Indo-China
Later Indus and China
. Low Income Countries
. Laos India and China
(1)1

(2) 2

(3) 3

(4) 4
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Which major development led to the transformation of villages in the plains between Euphrates and Tigris,
into urban centres ?

The Emergence of wheeled cart
. Neolithic Revolution

. Metallurgy

. Invention of Writing

b2 =
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1) 1
(2) 2
3) 3




(4) 4
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Arrange the following places where urban centres developed. in correct chronological order.

A Greece

B. Crete

C. Rome

D. The plains of river Indus

Choose the correct answer from the options given below :
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Read the following passage and answer the question.
Gordon Childe used the term urban revolution to describe the change in society marked by the emergence of
the first cities some 5500 years ago. The areas that first witnessed this profound social economic change were :

* Mesopotamia - the valleys of the Tigris and Euphrates rivers
*» The lower Nile valley.
* The plains of the river Indus.

Later, urban civilisations developed around the Mediterranean. in the Yellow River valley of China. in South
East Asia and in the Americas. Thus the first cities mainly emerged in areas that are now considered to be
LICs.

The catalyst for this period of rapid change change was the Neolithic Revolution, which occurred about 8000
BCE. This was when sedentary agriculture, based on the domestication of animals and cereal farming, steadily
replaced a nomadic way of life. As farming advanced. wrrigation techniques were developed. Other major
advances that followed were the ox-drawn plough, the wheeled cart, the sailing boat and metallurgy. However,
arguably the most important development was the invention of writing in about 4000 BCE, for it was in the
millennium after this that some of the villages on the alluvial plains between the Tigris and Euphrates rivers
increased in size and changed in function so as to merit the classification of urban.

Considerably later than the first cities, trading centres began to develop. The Minoan civilisation cities of
Knossos and Phaistos. which flourished in Crete during the first half of the second millennium BCE, derived
their wealth form maritime trade. Next it was the turn of the Greeks and then the Romans to develop urban and
trading systems on a scale larger than ever before.
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Given below are two statements :
Statement I : Urban centres in China developed before they developed in the plains of Indus river.

Statement II : Trading centres developed much later than the first cities.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement I are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II 1s false
4. Statement I is false but Statement IT 1s true

1) 1

(2) 2

(3) 3

(4) 4
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